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'll'il 3 [20 fI::LLUUj 1V1'l A LVII::B jjl-J'll'l 2 LLl'l::5 kg V11l-Jlh~u L~'fll-JIii'flflUL;hnur'fln;~1.I'1Ur'flU'~V11~ 0 rif'ltJL~'fln~~~1.IIilhJ1rif~~

Xu ~L'll'l1 t = 0 fl')1l-JLr'l~l-J~Yllf'1l'fl~ A LVllJUnU B (VAlB) whnu 0.5 m/s LLl'l::n~f'I'tUVl1~-n1lJ LLl'l::Ln'flr'fln1.l'1u'tu'trif 1 :jU1V1 Y'lU'11

VAlB LYhnu 1 m/s jj~f'lVI1~-n1lJ 'hr'fln1.l'1Ufl')1l-JLi~L:n~'1l-JfI~VI "N1.I1

(a) fI'l1l-JLi~L:n~'1l-J'1l'fl~r'fln

(b) LLN~~1uLlIUL~'flmLIiil'l::LlIU

ri11.1u~1iifh~l-Jur::~Vli'jJ'fl~fI')1l-JL~lJ~Vl1U"1l'ltr'jJ'fl~VJnil'l~l-Jtr\'ljjfi1LYhnu Jlk = 0.1 LLl'l::1iiHfi1 g = 10m / S2

(~~'U::,11f'l'J'H;i!J'U FBD ~~~:: KD 'D'fl.:l-JlJItl A ~~~:: B 3-J1lii''J!J).



'll'!l 4 [20 fl::LL'L.I'L.I)"l1npJ1A'iN~~vl E l-J,)ft 2 Mg il~n~l-Jti')~ C l-J,)ft 3 Mg n1l-J'1lLIil'1lfiur'1ln A Ji')!.iLl-JLl-J'L.ItilM=50 e N.m "l1n~~

"!J~ci~ n1~~vl E Lfl~'1l'L.I~1l.1t~!Jilfl1fl')1l-J1J~fl~~ 860 N "l~"1'illilnLhll'1l~~~vl E L~'1lLfl~'1l'L.I~~'L.I1l.11Ji8 Ll-J1il1ri1"'L.I~11A1'1lnA

LLft:: B ill-J')ftLVl1ri"U 100 kg ilfPlil 0.4 m LLft::fPli11"lL1i'L.l1'1lu~~~'L.IfJnft1~l-J')ft 0.2 m hj~~l-J')ft'1J'1l~L~'1lnLLft::ri1"'L.I~11AhJiln111tlft. ,
Ln~ii'L.IYi1'1lnn«l-nfl1 g=10 m/s')
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i'il 6 [20 f1:::LLUUjLL'lJUAS l.J'lfl 1.2 kg ~1il~lilnUft'1l S l.J'lfl 4 kg ~~i'"",n't"miU1'1lU'1il G LVl1nU 25 mm LLfl:::n~~LLuuhJlnfluu~u~'1l~1U

LLU'l~~ c;)~ttlti'11:::UUL~l.JLfI~'1lU~~lm'£Jlilti~ ~~'\.-Il

1) f1'lll.JLT'lL:n~~l.J'lJ'1l~LL'lJUAS Ln'1lLfI~'1lU~fl~L1'IU~l.J90°

2) fI'lll.JLh:n~~l.J'lJ'1l~ft'1l S Ln'1lLL'lJUAS LfI~'1lU~fl~L1'IU~l.J90°

nl1-1UIil11Xg = 10 m/s2


